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(a) Distinguish between the current account deficit and foreign debt. ST \Jé%\ M
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(b) Explain how the level of national savings can influence the size of the current 3
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account.
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Question 23 continues on page 15

— 14 -

Office Use Only — Do NOT write anything, or make any marks below this line.
I 2984310298 I



. ) 2013 HSC - Economics
Question 23 (continued) Band 2/3
Sample 1 Question 23

(¢) What are lhe_p_osit'&and negative implications of leLdﬂﬂyj_L for 5
the Australian_economy?
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End of Question 23

15 =

Office Use Only — Do NOT write anything, or make any marks below this linc. . x
. = : 1918310294 I





